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GEOGRAPHY

How many Princely and British states were 1.
thereinIndiabefore Independence?
a) 562 princely and 6 British states
b) 562princely and 9 British states
¢) 552 princelyand 9 British states
d) 562princely and 8 British states
How many States and Union Territories 2.
aretherein presentIndia?

a) 29Statesand 7 Union Territories
b) 28Statesand9 Union Territories
c) 28Statesand 8 Union Territories
d) 28Statesand 7 Union Territories
What is the length of India from North 3.
toSouth ?

a) 2933Kms
b) 3214Kms
c) 3241Kms
d) 2914Kms
When was present Punjab formed ? 4.
a) 1November 1956
b) 1December 1966
¢) 1lJanuary1966
d) 1November 1966
According to an opinion name of Indiais | 5.
taken from the name of a river in North
West ?

Indus

>4 C

a) 562 fomA3inE ¢ uazs Y3
b) s62fonmASin 9EazsR Y3
¢) ss2fommAsinE oEazse Y3
d) 562fanmAZin3 s aa3BeI Y3
TIIHS AN 93 9 s a7 wiz
AT TAS YEH I5?

a) 29TANI 1A TI AASYSH

b) 28TANMIIATI HASYSH

¢) 28T HMISATIHHIYLH

d) 28THNMI TATIHHAIYSH
I3 of §39 I THE 3 Bgrer fLar
J?

a) 2933 faHt.

b) 3214fnt.

c) 3241fxt.

d) 2914fent.

WS UATE TP ASH & IfEm™?

a) 15<9d1956

b) 1THIT 1966

c) 17A&=I 1966

d) 1352991966

fE UgaT miaATg 3793 T M6 &
efonr &t 3t famr

a) fig




10.

a)
b)

c)
d)

a) Chenab
b) Jhelum
c) Satluj
Which is the largest and smallest state 6.
on the basis of population ?
a) Rajasthan, Goa

b) UttarPradesh, Sikkim

¢) UttarPradesh, Goa

d) Madhya Pradesh, Sikkim
What is the population density of India, 7.
accordingto Census 2011 ?
a) 282 personpersqg.km
b) 362 person persq. km
c¢) 372personpersq.km
d) 382personpersqg.km
Which bay separates India from 8.
Srilanka?

a) BayofFaras

b) BayofMannar
c¢) BayofBengal
d) BayofHudson
What is the currency of Bhutan ? 9,
a) Rupee

b) Taka

¢) Ngultrum
d) Dollar

What is the longitudinal extent of India 10.

from Eastern to Westernend ?

20longitudes a)
30longitudes b)
35 longitudes c)
40 longitudes d)

2 42

a) d6d

b) HIBH

¢) H3IBH

AGHET € fgrd S Faz T AT T
TSI e IHEHI

a) THAES,IT

by €3gyEm, fafad

¢) E3TyEm,amr

d)y Hoyew,fAfay

2011 T A&dEs HIEA F93 o
AGHfET wWE3T fat 37

a) 282fenaStystegarfat.

b) 362fena3tystegarfadt.

) 372fenEtyEtegarfat.

d) 382fenaStystegarfat.

IS S H B 3 TH IS TH U &
at 3l

a) SIATTUSE

b) HEIE ST

c) Har®eruE!

d) TSAET U

G YA S ASH 2T A & 7

=

a) I
b) @ar

¢) ®IB3IIH

d) 389
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THZIEHITI?

209H3T
30TH 39
359H3T
4099




